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These are considered as one testimony — NNR NITY HR 9T

OVERVIEW

The mwn teaches regarding two sets of witnesses who saw a crime from two
different windows that if some of the two sets of witnesses can see each other they
are considered as one set of witnesses. Md0IN explains what is the relevance of this
ruling.
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So that if one witness of either set is found to be a relative or a disqualified

witness, the entire testimonysis invalid -
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And similarly if one set of the witnesses was found to be n»#, they are not
killed (if they are testifying to a capital crime), unless all the sets of 2>7v who saw

each other)4 are am7 - ] 5
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And also the entire testimony is invalidated if there was a 717177 of even only one
7y, for 11 is considered as if one of them was found to be a 2102 WX 21p.

SUMMARY

Two sets of 0>7v who see each other are considered one set regarding 109 X 217p,
(that one disqualifies all) and regarding 777 (they are not punished unless all were
ani, and a 7017 of one 7Y disqualifies the entire NM7Y).

THINKING IT OVER
Regarding the case of mari,” what is the meaning of 19X NX 17X 1X17 JN¥Pn, since
they were never even there (they are lying)?!®

' This 7v disqualifies the entire testimony if he is a relative to another witness or to any of the parties involved in
the crime whether it is the perpetrator or the victim.

? The rule by any one set of 27y is that if one of them is a 2109 W 2P, the entire M7y is void. These two sets are
considered as one set since 17X NX 19X X171 JNEPR.

? The rule is that we do not implement the punishment of 31 anr 9w 12 an>wy, unless all the o*7v that testified (as
one set) were 0177, These two sets are considered as one set.

* See “Thinking it over’.

> The 07 are not punished, for we only implement ant TwX2 when all the 2°7y were n1; however their testimony
(of both sets) is invalid since one of them was 21177 (and it was 1NX DX 178 PRI 1NZPR)..

® The 7v who was an is found to be an 2pw 7y, who is NTY> 109.

7 See footnote # 4.

8 See 29y MR HRIAW 2777 MWW T P"'o 170 n"axp ,1mr a7 R nMas.
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